AD-215/220/230
Parts Manual
1990/1991

American Dryer Corporation
88 Currant Road
Fall River, MA 02720-4781
Telephone: (508) 678-9010 / Fax: (508) 678-9447

123191 ADC Part No. 450088




Retain This Manual In A Safe Place For Future Reference

American Dryer Corporation products embody advanced concepts in engineering, design, and
safety. If this product is properly maintained, it will provide many years of safe, efficient, and
trouble-free operation.

ONLY properly licensed technicians should service this equipment.

OBSERVE ALL SAFETY PRECAUTIONS displayed on the equipment or specified in the installa-
tion/ operator's manual included with the dryer.

WARNING: UNDER NO CIRCUMSTANCES should the door switch or the heat circuit
’ devices ever be disabled.

WARNING: The dryer must never be operated with any of the back guards, outer tops, or
sevice panels removed. PERSONAL INJURY or FIRE COULD RESULT.

We have tried to make this manual as complete as possible and hope you will find it useful. ADC
reserves the right to make changes from time to time, without notice or obligation, in prices,
specifications, colors, and material, and to change or discontinue models.

Important

For your convenience, log the following information:

DATE OF PURCHASE MODEL NO.

DISTRIBUTOR'S NAME

Serial Number(s)

Replacement parts can be obtained from your distributor or the ADC factory. When ordering
replacement parts from the factory, you can FAX your order to ADC at (508) 678-9447 or telephone
your orders directly to the ADC Parts Department at (508) 678-9010. Please specify the dryer model
number and serial number in addition to the description and part number, so that your order is
processed accurately and promptly.

The illustrations on the following pages may not depict your particular dryer exactly. The
illustrations are a composite of the various dryer models. Be sure to check the descriptions of the
parts thoroughly before ordering.

INSTRUCTIONS TO BE FOLLOWED IN THE EVENT THE USER
SMELLS GAS MUST BE POSTED IN A PROMINENT LOCATION. THE
INSTRUCTIONS TO BE POSTED SHALL BE OBTAINED FROM THE
LOCAL GAS SUPPLIER.




Table Of Contents

AD-215/220/230 Control DOOT ASSEMDIY  ...cuciuiueucincncnsinncncnsenseasinsecssenssscsssssomssssssssssssssssessesssssssesssoss 3
AD-215/220/230 Microprocessor Control Panel / Box Assemblies

For Single Coin MOdels OINLY ...ttt sesescssasacssssmsssisssessssssassssens sensssasassons 4,5
AD-215/220/230 Microprocessor Control Panel / Box Assemblies

For Dual Coin Models ONLY ..o rcncnesitnesincnsisssss s sssssssesssssssssssssssssssversis 6,7
AD-215/220/230 Microprocessor Control Panel / Box Assemblies

For Non-Coin MoOdels OINLY  ....iiieteenerersiceereessssesiessssersesessesssssssassesssssssessessenssssensansssessosss 8,9
AD-215/220/230 Lower Service DOOT ASSEMDIY ......couvvirieneitsiicitsisn s sss s s sies s sssseens 10
AD-215/220/230 Lint SCreen ASSEMDIY .....ccccceevvcirscemiassssessemssssss s s sss s s sinssssssssssssssssessssssaneses 11
AD-215/220/230 Front Panel Assembly oL

Latch-Type ....uovecicucnnns OO SR VA
AD-215/220/230 Front Panel Assembly

MaABREL-TYPE ottt as s b s sers s st bbb s aRe RS sbsba s s bR s aRs s shas b bR 13
Main Door Switch Assembly

INLS. SEIIES ettt cssrs st sss s s ess st ss s essbsas s s bRt SR e R SRt bt st sebnebebasea e 14
Main Door Switch Assembly

PIUDNGEI-TYPE oottt st sasten s sensebssssssasessasssanssstssasssessssssssssassssssssesssssassossinssosssssnan 15
Main Door Assembly

Latch-Type ......co.... et et e AR AR 16
Main Door Assembly

MAGREE-TYPE ettt assaasssss sasbsbsssbcstas sebs sss s bs s asesbbsmesstsbaesssssriesrasensssnens 17
AD-215 Basket (Tumbler) / Support Assembly

Tapered Rib

For Models Mfd. as of December 18, 1991 ... riiciicinesssssmscnscsssssiscaessssensesnescsses 18
AD-215 Basket (Tumbler) / Support Assembly

Standard Rib

For Models Mfd. Prior to December 18, 1991 ...t issssssssssssssssesssssssscsees 19
AD-220 Basket (Tumbler) / Support Assembly

Tapered Rib

For Models Mfd. as of November 18, 1991 .......vrrriririisincisesssesssisssssessscssssssesssinsssensas 20
AD-220 Basket (Tumbler) / Support Assembly

Standard Rib

For Models Mfd. Prior to November 18, 1991 ... iiincnccisinescnsinstssssscssssesssssssssescasecsses 21
AD-230 Basket (Tumbler) / Support Assembly

Tapered Rib

For Models Mfd. as of April 18, 1991 ...t s s ssnenss .22
AD-230 Basket (Tumbler) / Support Assembly

Standard Rib

For Models Mfd. Prior t0 ApPril 18, 1991 ...t sssassssesessessessssssssossssssnesnes 23




AD-215/220/230 Temperature Sensor Bracket Assembly ......oc..meeremmrreeen.

Sail Switch ASSEMDIY .....ccoccuireirrencerecenensesesnsse s e certena s s sane ecassse s
Tumbler Bearing Assembly ......... setstassisssssesinareassrasesaareesesnates asssrensesesastsnesess

Idler Bearing Assembly .........ccocveuccinmrrnnenrisnssninnereren.
AD-215/220/230 Totally Enclosed, Fan-Cooled Motor Mount Assembly
For Single Phase (16) Models with Plug-Type Motor and Tapered Ribs ..........
AD-215/220/230 Totally Enclosed, Fan-Cooled Motor Mount Assembly
For Single Phase (1) Models with Plug-Type Motor and Non-Tapered Ribs .
AD-215/220/230 Totally Enclosed, Fan-Cooled Motor Mount Assembly

For Single Phase (10) and Three-Phase (30) Models with Plug-Type Motor
and with Tapered RibDS .......ccccovncirmineinnsinntessesi et ssesss s sstsssesenssssssesnsees

»
AD-215/220/230 Totally Enclosed, Fan-Cooled Motor Mount Assembly

For Single Phase (1¢) and Three Phase (36) Models without Plug-Type Motor
and with Non-Tapered RiDS .......oiircrercenmeeimeinnnsissssinsseesssns s sssssass ssosnns

ADG-215/220/230 DSI Gas Valve / Burner Assembly
For Models Mfd. as of NOVEmMDEr 21, 1991 .....uvucuiieeeeeeeeeeenesesseessnssesssesssssenesssens

..................

..................

ADG-215/220/230 DSI Gas Valve / Burner Assembly

For Models Mfd. Prior to November 21, 1991 ....ccoveeeeremereeernnrieeceesseseseeseane
ADG-215/220/230 Gas Piping Assembly

For Models Mfd. as of APril 26, 1997 ....c..coeucecucmmremesmesemssmmsssssemssssenssssssnsssssssssnsseesone
ADG-215/220/230 Gas Piping Assembly

For Models Mfd. Prior to April 26, 1991 .....covuereeeommmmernnsseeseesssesseseessssssesseseensesensene
ADE-215/220/230 Electric OVen ASSEMDLY ......c..ccomreuemrrrenrersrssssnsssenssesasssenssessseesssssssseneses
AD-215/220/230 Gas Burner / Electric Oven Chamber Assembly .....oooeerconenrinnrenranns
ADE-215/220/230 Electric Oven Application Chart ...........ccomesrsseneeeesssmnesssssssosesesessesenssns
AD-215/220/230 3-Phase Motor, Electrical Relay Panel Assembly

..................

..................

..................

..................

............................

AD-215/220/230 3-Phase Motor, Electrical Relay Panel Assembly
FUIDIAS ottt csasesess st ssssasss s s s s sem e ss s srasensenasensees
AD-215/220/230 Exhaust DUCHNG ASSEIMDIY ...ccouuemmmmrervumimsnresseneseessnsesssamseeeseeesseesssesssssnns
AD-215/220/230 Back GUArd ASSEINDIY ....c...orreeumrrresrensrunnesessecsessnnsomesessesmsesesmsssseemsessssssens
Microprocessor Coin ACCEPLOr LISHING .....cceuurreuummrruesnssenesrenemssssssssssosesenssommeeeessssens

Telemecanique

..................

ADG-215/220/230 DSI Burner Assembly SpeCifications ................eueecesosecemsesseerersssseresnn
Additional Parts Available ..............

................

......

..................

..................

24

26,27
28,29

30,31

32,33

34,35



AD-215/220/230 Control Door Assembly 3

r

MANO866

Mus. Part
No. Number Oty. Description

1 880136 1 AD-215/220/230 Control Door Assembly Complete Less Locks
(includesillus. nos. 1, 2, 3, and 6 through 9)
880135 1 AD-215/220/230 Stainless Steel Control Door Assembly Complete Less Locks
(includes illus. nos. 1, 2, 3, and 6 through 9) '

850432 1 AD-215/220/230 Control Door Only

- 850416 1 AD-215/220/230 Stainless Steel Control Door Only
2 180213 1 Lower Trim Strip (28-3/8" length)
3 150201 5 #10-32x 1/4" Phillips Round Head Machine Screw
4 160040 2 ACE® Lock Assembly Only without Key
5 160140 2 ACE®Key Only (key no. XX4451)
6 112077 2 "Arrow" Label
7 180205 1 Upper Trim Strip (28-3/8" length)
8 150201 5  #10-32 x 1/4" Phillips Round Head Machine Screw
9 3

117600 Noise Suppressor Tape (sold in feet)

* Specify color when ordering.

Telephone: (508) 678-9010 Fax: (508) 678-9447



AD-215/220/230 Microprocessor Control Panel / Box Assemblies

For Single Coin Models ONLY

HANDOAS

DUPLICATE ALL COMPONENTS ON RIGHT SIDE OF CONTROL BOX

Tllus.
No.

1

6*

7&

Part

112526
800072

800193

160041

160141

802142
802143
316076
160042
160020
160043
160022
160112
160113

P el e ped e el e pd

Number Oty. Description

Coin Keyboard Label Assembly

AD-215/220/230 Phase 4.1 Microprocessor Coin Control Panel Assembly
(includes illus. nos. 1, 2, 12, 13, and 14 only)

AD-215/220/230 Phase 4.1 Microprocessor Coin Control Panel Assembly with
Battery Option

(includes illus. nos. 1, 2, 12, 13, and 14 only)

ACE® Lock Assembly Only without Key

(for control panel assembly)

ACE® Key Only (key no. XX4469)

(for control panel lock)

AD-215/220/230 Standard Coin Box Assembly Only

AD-215/220/230 High-Security Coin Box Assembly Only
AD-215/220/230 Coin Box Deflector

ACE® Standard Coin Box Lock Assembly Only with Key

Standard Coin Box Lock Assembly Only with Key

ACE® High-Security Coin Box Lock Assembly Only with Key.
High-Security Coin Box Lock Assembly Only

Key Only (for standard coin box lock)

Key Only (for high-security coin box lock)

American Dryer Corporation

88 Currant Road / Fall River, MA 02720-4781



AL e

AD-215/220/230 Microprocessor Control Panel / Box Assemblies (continued)

For Single Coin Models ONLY

Hlus.

Part

No. Number OQty. Description

8

10
11

12
13

14
15
16

17
18
19
20™

21
22

23
24
25
26
27
28
29

30
31

137056
137021
137023
865050
153012
137130
137131
152001
137021
137020
122800
137022
150315
137151
136057

136052

137013
800196

800197

150300
141403
150002
120715
151000
151001
802140
802141
153018+
152104
152002***

1

Pod
G Bl e W

DO e pd e el e

2
1
2
1
2
6
1
1
4
4
4

Microprocessor Single Coin Acceptor with Optical Switch
(refer to Microprocessor Coin Acceptor Listing on page 52)
Optical Switch Only (Greenwald)

Microprocessor Socket Only

Optical Switch Connector Only

Single Coin Optical Switch Harness Only

#8 Star Washer

Phase 4.1 Coin Controller Only

Phase 4.1 Coin Controller Only with Battery Clip

#8-32 Hex Nut

Microprocessor Socket Only >

15-Pin Microprocessor Connector Only
Microprocessor (female) Pin Extraction Tool

15-Pin Strain Relief Only

#6 x 3/8" Phillips Pan Head Screw

Motor Control Solid State Relay Board Only - 1HP, 125v-250v/1&/50/60
1/2-Amp (Slo Blo) Fuse Only

(for models mfd. as of June 15, 1990)

4-Amp Fuse Only

(for models mfd. prior to June 15, 1990)

Nylon Standoff

AD-215/220/230 Control Box Panel Assembly Complete
(includes illus. nos. 19 through 22, 25, 26, and 27)

For Gas Models ONLY

AD-215/220/230 Control Box Panel Assembly Complete
(includes illus. nos. 19 through 22, 25, 26, and 27)

For Electrical Models ONLY

#10 x 1/2" Hex Washer TEK Screw

DSI 24VAC Transformer

#6-32 x 1" Slotted Round Head Screw

30-Position Terminal Block

#6-32 Pal Nut

#8-32 Hex Nut

AD-215/220/230 Standard Coin Vault Only
AD-215/220/230 High-Security Coin Vault Only

1/4" Flat Washer

1/4-20 Free Spin Wash Nut

1/4-20 Hex Nut

IMPORTANT: Check label on computer chip to verify correct part number for

*

controller.

Specify key number when ordering.

** Check fuse rating for verification.
*** For use on high-security coin vault ONLY.

Telephone: (508) 678-9010

Fax: (508) 678-9447



AD-215/220/230 Microprocessor Control Panel / Box Assemblies

For Dual Coin Models ONLY

MANOBG4

DUPLCATE ALL COMPONENTS ON RIGHT SIDE OF CONTROL BOX

[llus.  Part
No. Number OQty. Description
1 112526 1  Coin Keyboard Label Assembly
800072 AD-215/220/230 Phase 4.1 Microprocessor Coin Control Panel Assembly
(includes illus. nos. 1, 2, 12, 13, and 14 only)
800193 1 AD-215/220/230 Phase 4.1 Microprocessor Coin Control Panel Assembly with
Battery Option
(includes illus. nos. 1, 2, 12, 13, and 14 only)
3 160041 1 ACE® Lock Assembly Only without Key
(for control panel assembly)
4 160141 1 ACE® Key Only (key no. XX4469)
(for control panel lock)
5 802021 1 AD-215/220/230 Standard Coin Box Assembly Only
802144 1 AD-215/220/230 High-Security Coin Box Assembly Only
316076 1 AD-215/220/230 Coin Box Deflector
6* 160042 1  ACE®Standard Coin Box Lock Assembly Only with Key
160020 1 Standard Coin Box Lock Assembly Only with Key
160043 1 ACE® High-Security Coin Box Lock Assembly Only with Key
160022 1 High-Security Coin Box Lock Assembly Only
7 160112 1 Key Only (for standard coin box lock)
160113 1 Key Only (for high-security coin box lock)
American Dryer Corporation 88 Currant Road / Fall River, MA 02720-4781



FPSC N

AD-215/220/230 Microprocessor Control Panel / Box Assemblies (continued) 7

For Dual Coin Models ONLY
Mus. Part

8 — 1 Microprocessor Single Coin Acceptor with Optical Switch
(refer to Microprocessor Coin Acceptor Listing on page 52)

9 137056 2 Optical Switch Only (Greenwald)
10 137021 6 Microprocessor Socket Only
11 137023 2 Optical Switch Connector Only
865051 1 Dual Coin Optical Switch Harness Only
12 153012 4 #8 Star Washer
13 137130 1 Phase 4.1 Coin Controller Only
137131 1 Phase 4.1 Coin Controller Only with Battery Clip
14 152001 4 #8-32 Hex Nut
15 137021 14 Microprocessor Socket Only
16 137020 1  15-Pin Microprocessor Connector Only
122800 1 Microprocessor (female) Pin Extraction Tool
17 137022 1 15-Pin Strain Relief Only
18 150315 1 #6x3/8" Phillips Pan Head Screw
19 137151 1 Motor Control Solid State Relay Board Only - 1HP, 125v-250v/1@/50/60
20 136057 2 1/2-Amp (Slo Blo) Fuse Only

(for models mfd. as of June 15, 1990)
136052 2 4-Amp Fuse Only
(for models mfd. prior to June 15, 1990)
21 137013 4 Nylon Standoff
22 800196 1 AD-215/220/230 Control Box Panel Assembly Complete
(includes illus. nos. 19 through 22, 25, 26, and 27)
For Gas Models ONLY
800197 1 AD-215/220/230 Control Box Panel Assembly Complete
(includes illus. nos. 19 through 22, 25, 26, and 27)

For Electrical Models ONLY
23 150300 2 #10x1/2" Hex Washer TEK Screw
24 141403 1 DSI24VAC Transformer
25 150002 2 #6-32 x 1" Slotted Round Head Screw
26 120715 1 30-Position Terminal Block
27 151000 2  #6-32 Pal Nut
28 151001 6 #8-32 Hex Nut
29 802140 1 AD-215/220/230 Standard Coin Vault Only
802141 1 AD-215/220/230 High-Security Coin Vauit Only .
30 153018** 4  1/4" Flat Washer
31 152104 4 1/4-20 Free Spin Wash Nut
152002 4 1/4-20 Hex Nut

IMPORTANT: Check label on computer chip to verify correct part number for
controller. '

*

Specify key number when ordering.
Check fuse rating for verification.
*** For use on high-security coin vault ONLY.

%

Telephone: (508) 678-9010 Fax: (508) 678-9447



et

AD-215/220/230 Microprocessor Control Panel / Box Assemblies

For Non-Coin Models ONLY

MANQ863

DUPLICATE ALL COMPONENTS ON RIGHT SIDE OF CONTROL BOX

American Dryer Corporation

88 Currant Road | Fall River, MA 02720-478]



